AYZEIZ MAOHMATIKQN 31-05-2022

1n Aoknon

To aupiuywvio Tpiywvo EXeL B =1 opBn ywvia kat 2 ofgieg

To opBoywvio Tpiywvo EXeL r’) T 1 auBAeia ywvia ka1 2 ofgiec

To ofuywvio Tpiywvo XL B 1 3 ofeiec ywviec

2n Aogknon
a. 1o Tpiywvo: opBoywvio
20 Tpiywvo: aufiuywvio
3o Tpiywvo: ofuywvio
B. MeTpuwvTac Pe TO HOIPOYVWHOVIO PPIOKOULE TO UETPO TWV YWVIWV OTa Tpiyw-
va:
10 Tpiywvo: =fP = 40° ka1 =PM=50°
20 Tpiywvo: STX = 40° kau IXT = 45°
30 tpiywvo: ZEA =60°

1n Aoknan
To okaAnvo Tpiywvo ExeL e ___—m3 TAEUPEC (0EC

To ICOOKEMEC TPiywVo EXEL — 24\- 3 TMAELPEC AVIOEC
To woénhevpo Tpiywvo €xel — I MAEUPEC [oeg

2n Aoknan
= To tpiywvo ABI eival wodmhevpo.  » To Tpiywvo AEZ eivar okahnvo.
» To tpiywvo HOK eival okahnvo. » To tpiywvo AMN gival IoOOKEMEC.



